AP R RENFET 5 (RI5) B 5 B #

SH6FIA3H (KEEH)
Fx ENSEfashE: 2093 bk

(B ILHEREST)
3 s i HIFE R (ko) 1 #Y3E Xt ERE |
A—k AH HY5E | HEREE] | Hfike) | BEF) | HEME) | REFE) | SEE | HEE) | RiEE)
130100|72 W2 A et 25,205
1301002V A JtiEE 11,800 0| 11,720 10 2,160 1,080
130100|72 W2 A s 13,395 0| 10,645 10 1,620 756
130340[#ICA LA e 16,760
130340[#IcA LA JtimE 16,150 0| 16,120 10 2,160 648
130400(Z1% 5 e 914
130400| 1% 5 BERE 504 0 500{ 10 1,566
130600|1LA Z A e 1,558
130600|1LA Z A 7 L 150 150 5 2,484 1,080
130600|1LA Z A = 1,400 1,400 5 3,672 864
131100{H 3 et 18,075
131100({H 3 RE 18,075 0| 18,075 15 3,024 162
131700(%F v et 41,560
131700|F + R HE 28,880 24,650 15 1,166 1,123
131700(%F v~ R 12,680 12,680 10 1,188 378
131800(1F 5 N A E e 117
131800(1F 3 WA E L 32 32 0] 0.2 248 216
131910(Fh & e 1,198
131910(Fh & PN 19 0 19 0.045 63 62
131910(Fh & B[] 280 0 280 1 2,160 1,512
131910(Fh & ) 465 0 465| 10 3,024 2,592
131910(Fh & TiE 360 0 360 5 10,260
131950(B & et 1,405
131950(B & JtiEE 200 0 200 5 2,430




131950(B & R 1,070 720 5 2,268 1,620
131950|H A & SER 75 63 3 1,620 1,404
133400(L % 2 et 14,178

133400(L % % R 14,178 0| 10,642 10 2,700 1,080
134100 |#8/1 et 10,510

134100|#A/1 JbEE 600 0 100 5 2,754

134100 |#8/1 = 1,540 0 700 5 3,456 2,538
134100|#A/1 = 3,505 0 1,935 5 3,456 2,376
134100 |#8/1 S 161 0 161 5 2,484 1,566
134100|#A/1 &) 1,765 0 1,700 5 3,024 1,674
134100 |#8/1 iR 1,425 0 1,425 5 2,916 1,134
134200(F /1 e 3,200

134200 (7 I JumE 3,200 0 3,200 10 2,592 1,836
134300(#6F e 6,805

134300 (%6 7 =33 160 0 160 8 3,888 3,456
134300(#6F FE 359 0 359 5.5 2,376 1,080
134300 (%6 7 S 2,306 0 2,278 5 2,808 1,188
134300(#6F &) 100 0 100/ 05 151 108
134300 (%67 iR 892 0 892 5 1,944 1,080
134300|50F Ao 102 0 102 0.4 238 184
134400| k< k et 10,068

134400| k= b+ I B 8,747 0 8,747 4 3,024 1,674
134500|°— < > e 5,797

134500| &’ —~< >~ B 441 441 10 3,672
134500|°— < > iR 684 684| 0.15 103 59
134500| & —~< >~ R 135 135/ 0.15 67 56
135100[ VAT A et 56

135100| WA A JtiEE 56 0 56 2 7,560 5,400
136100|1°A L & et 9,850

136100{n A L & T, 6,050 0 6,050 5 1,728 540




136100|HA L & wE 3,690 3,545 5 2,160 648
136100(AA L & = I 60 60 5 2,160
136200|%inE ¥ 7,580

136200|E 5% JuiBE 7,580 7,580 10 2,506 1,080
136210| X —27 4 >~ T3 9,100

136210( X —7 1 ~ time 9,100 6,180 10 3,240 1,318
136300| 2% T3 395

136300|2F = IR 245 220 5 3,240 1,620
136600|7- & ¥ 22,975

136600|7z & JuiBE 12,700 12,700 20 3,240 2,236
136600|7- & BE 10,015 9,985 10 3,456 864
138100({& L W /o lF ¥ 1,064

138100 L Wizl EE 66 66 0.1 113 86
138100({& L W /o lF i 1L 64 64 0.2 76

138100 L Wizl wE 817 697 0.2 248 70
138500(L® LE ¥ 933

138500| L& LE K% 894 621 0.2 76 68




AP R RENFET 5 (RI5) B 5 B #

SH6FIA3H (kEER)
LSS ST E 386 b
(B ILHEREST)
BE ox e HIFE R (ko) 1% #Y3E RS E]
a—F AH Y5 | EREE] | Biike) | &EM) | S{EFM) | REFE) | SEFA) | $EE) | R{EM)
242130|2 1B W AT | 13,969
242130|21B W AT & 6,210 0 5,400 10 5,400 2,592
242130|21' % W AT R 7,759 0 7,759 10 5,616 2,160
243140|&Kk % L HE 6,570
243140|&Kk % L R 3,840 0 3,840 10 5,940 4,536
243140|&Kk % L BE 490 0 0 6
243140|&Kk % L h3= 780 0 780 10 4,860 2,700
243140|&K7% L (= 1,460 0 940 10 6,480 5,616
243310| =+ L [y 7,180
243310| —+H#es L SER 7,180 0 3,500 10 6,480 3,780
243710| i ED & [y 180
243710 F D & = 180 0 180| 7.5 3,780 1,944
245230| Bl E S T 900
245230|E &3 E S RE 580 580| 0.35 594 518
245230 BN E S 26 320 264 1.2 1,382 1,296
245240|EHF — 2 3NS5 |#REK 2,934
245240|EF — 2335 | [ 2,816 0 2,816 2 3,888 1,404
245370| % 2 Hh v b RY 58EK 456
245370|~ 2 A v b~ — [ 114 16 98 2,484 2,160
245370|% 2 Ay bRY - K5 342 0 342 2,052 1,080
245820|LvB L < [y 5,176
2458205 L < BE 5,149 62 4,830 0.4 378 216 378 81
247100| 7 —L 2 X Oy (% 259
247100|7 — L2 X Oy | E:fE 260 0 260 9 10,800 3,780
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